
1.1   READING STRATEGIES USING THE FEATURES OF A PASSAGE 

Label the reading passage with the correct letters in the box (A-G). 

  

 

 

 

  

 

HEALTH TEA 
Sid Cowans looks at the health properties of a favorite drink. 

If you are a tea drinker you have probably heard of tannins, which are the plant based 
chemicals found in tea. They are responsible for the astringent bitter taste sometimes 
associated with tea. When you drink a cup of tea, it usually dissolves and remains clear unless 
the water is too cold or too alkaline₁. 

Tannins occur in many different types of plants and food, but are especially present in oak 

galls₂, which have been used for centuries in Chinese medicine due to their health giving 

properties. Tannins are often present in drinks and medicine because they are soluble in water, 
but how much they dissolve depends on factors like temperature and the chemical makeup of 
the liquid. 

         Tannins exist in all types of tea. 

 

₁ In chemistry, an alkali is the opposite of an acid. 

₂ Abnormal growths on oak trees 

Features of a Reading Passage. 
A  footnote 
B  subheading 
C  column 
D  figure/illustration 
E  heading 
F  caption 
G  paragraph 
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